A. Asoci; 1es Publico P

(APP's) (A=a+btc+d) 0.00/ 0.00 0.00] 0.00 0.00 0.00
a) APP 1 0.00) 0.00] 0.00 0.00] 0.00 0.00]
b) APP 2 0.00] 0.00} 0.00 0.00 a 0.00}
¢) APP 3 0.00] 0.00] 0.00 0.00] fi] 0.00}
d) APP XX 0.00 0.00 0.00 0.00 0.00 0.00]

B. Otros Instrumentos (B=a+b+c+d) 0.00] 0.00} 0.00 0.00} 0.00) PoeL
a) Oftro Instrumento 1 0.00 0.00] 0.00] 0.00} 0.00 0.00
b} Otra Instrumento 2 0.00 0.00 0.00) 0.00 0.00 0.00]
¢} Otro instrumento 3 0.00 0.00] 0.00] 0.00 0.00 0.00]
d) Otro Instrumento XX 0.00| 0.00} 0.00 0.00) 0.00 0.00

C. Total de Obligaciones Diferentes

de Financiamiento (C=A+B) ool oo | o0 0. n.S_




